PR Number: GF-2024-10-02819

PPMP Number: PPMP-2025-092624-0626

Office: CAS

Purpose: FOR OFFICE SUPPLIES

No.	Item Name	Quantity	Quarter	MOP	Status
1	7 in 1 set Office Supplies Organizer	1	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
2	Battery, Alkaline, Size: AAA, Nominal Voltage: 1.5 volts, 2 pcs/pack, genuine	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 120.00 Quantity: 4 Total Cost: 480.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
3	Desk Tray, Metal, Triple, Black, Dimension: approx. 30 x 25 x 38cm	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 750.00 Quantity: 1 Total Cost: 750.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
4	Dust Bin (Trash Bin), durable plastic, w/ swing-type cover, approx. 25L capacity	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 290.00 Quantity: 1 Total Cost: 290.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
5	Folder, Pressboard, US, Blue, Long	30	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 38.00 Quantity: 30 Total Cost: 1,140.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
6	Gel Ink Sign Pen 0.5, blue	20	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 22.00 Quantity: 20 Total Cost: 440.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
7	Ink, Refill, for Whiteboard Marker, Black, 30mL	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 150.00 Quantity: 5 Total Cost: 750.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
8	Paper, Bond, A4, S-24, 80 gsm	50	1	Competitive Bidding	PO #: PS-DBM Q25-01445 Bid Price: 213.86 Quantity: 50 Total Cost: 10,693.00 PO Amount: 918,396.32 Supplier: PROCUREMENT SERVICE (PS-DBM) Obligation Number: Q25-01445 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
9	Paper, Bond, Long, S-24, 80 gsm	20	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 270.00 Quantity: 20 Total Cost: 5,400.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
10	Pen, Ball, blue	30	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 6.00 Quantity: 30 Total Cost: 180.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
11	Pen, Whiteboard Marker, black	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 48.00 Quantity: 10 Total Cost: 480.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
12	Rag, (for cleaning & wiping)	10	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
13	Record Book, Big, 300 pages	5	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
14	STICKY NOTES 2 X 3 ASSORTED COLORS	14	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
15	String Doormat/Rug/Basahan	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 75.00 Quantity: 4 Total Cost: 300.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
16	Tape, Double Sided, 1" x 10m	20	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
17	Trash Bag (Garbage Bag), Large (15x15x37 inches), 10pcs/pack, Black	10	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
18	Wall Clock	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-103 (GF) Bid Price: 780.00 Quantity: 1 Total Cost: 780.00 PO Amount: 488,796.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03311 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT